s—= SINO WEALTH

SH69K20A

1K , 11O

4

[ ] SH6610C 4
® ROM: 1K X 16
H RAM: 96 X 4

-32

-64
u :
-fosc = 400kHz - 4MHz, Vbp = 2.0V - 5.5V
-fosc = 4MHz - 8MHz, Vbp = 4.5V - 5.5V

m 15 1/0 1

m4 ( )

] 8 /

[ ]

[ ] :

- ( 0)

- : PORTA.0 & PORTA.3 & PORTB & PORTC
( / )

SHG69K20A CMOS 4
2MHz/4MHz/6MHz RC SHGE9K20A

u ( )
: 32.768kHz, 400kHz - 8MHz
: 400kHz - 8MHz
RC : 400kHz - 8MHz
RC : 2MHz/4AMHz/6MHz
: 30kHz - 8MHz
[ (4/fosc)
] :HALT STOP
]
- (WDT) ( )
- (POR)
- (LVR)
B PORTA-PORTD / (PORTD.3
u ; ( )
]
]
[ ] 18 DIP/SOP

SH6610C CPU

, RAM, ROM,

PORTA2 [ 1@ ~ 18 [] PORTA.1

PORTA3 [] 2 17 [] PORTA0
PORTD.2/TO [] 3 wn 16 |_] OSCIPORTD.1
RESET/PORTD.3 [] 4 L 15 [] 0SCOPORTD.0

GND [] 5 © 14 [] Voo

PORTB.O [| 6 E; 13 [[] PORTC.3

PORTB.1 [| 7 52 12 [] PORTC.2

PORTB2 [| 8 11 [] PORTC.1

PORTB.3 [| 9 10 [_] PORTC.0

I/0

V1.0



SHG69K20A

RAM
32 X 4 Bits
System register

Watchdog
Timer

RAM
64 X 4 Bits
Data memory

ROM
1K X 16 Bits

CPU

Reset Circuit

0osC

PORTD (4-Bit)

PORTC (4-Bit)

VoD g——

GND l——

Power Circuit

Timer

PORTB (4-Bit)

PORTA (4-Bit)

OSCO/PORTD.0
OSCI/PORTD.1
TO/PORTD.2
RESETO/PORTD.3

PORTC.3~0/External interrupt

PORTB.3~0/External interrupt

PORTA.0/External0 interrupt
PORTA.1
PORTA.2
PORTA.3/External1 interrupt
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SHG69K20A

1 PORTA.2 110 /O
/O 1/0
2 PORTA.3 | ’ ( )
3 TO [ / ( )
/PORTD.2 110 PORTD.2
4 RESET I ( , )
/PORTD.3 [ PORTD.3 ( , )
5 GND P
9-6 PORTB.3-0 | VO Vo
l ( |/ )
13-10 | PORTC3-0 "IO Vo C )
14 VDD P
15 0SCO 0 , , RC ,
/PORTD.O 110 / RC ., PORTD.O
16 oscl [ , ,
/PORTD.1 110 RC ., PORTD.1
110 110
17 PORTA.O | 0 ( )
18 PORTA.1 110 1/0
R ;O P A
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SHG69K20A

1. CPU
CPU : (PC), 1.4. (TBR)
(ALU), (CY), , ; (TIMP) (RTNW)
(INX, DPH, DPM  DPL)
1.1. PC TBR AC ROM 8
ROM 12 - TIMP ROM (PC11 - PC8) X (2°)
(PC11), (PC10, PC9, PC8, PC7, + (TBR, AC)) RTNW (TBR,
PC6, PC5, PC4, PC3, PC2, PC1, PCO0) AC) 7 4 TBR , 3
0 AC
2K ROM , (JMP) 15.
4K ROM (  ROM ) DPH (3 ),DPM (3 ) DPL (4 )
12 ALU CY 3FFH (INX), DPH, DPM
ALU ALU : DPL
/ (ADC, ADCM, ADD, ADDM, SBC, 1.6.
SBCM, SUB, SUBM, ADI, ADIM, SBI, SBIM) ,
/ (DAA, DAS) CY PC (11-0) , cYy
(AND, ANDM, EOR, EORM, OR, ORM, ANDIM, 13 X 4 (RTNI/RTNW)
EORIM, ORIM) PC
(BAO, BA1, BA2, BA3, BAZ, BNZ, BC, BNC)
(SHR)
(CY) ALU /
RTNI RTNW 4 4
1.3. (AC)
4 ,
ALU ,
2. RAM
RAM RAM , CPU STOP HALT
2.1. RAM
: $000 - $01F
: $020 - $05F
2.2.
3 2 1 0 /
$00 IEX0 IETO IEX1 IEP /
$01 IRQX0 IRQTO IRQX1 IRQP /
$02 - TOM.2 TOM.1 TOM.O / 2-0 0
$03 - - - - -
$04 TOL.3 TOL.2 TOL.1 TOL.O / /
$05 TOH.3 TOH.2 TOH.1 TOH.0 / /
$06 - $07 - - - - -
$08 PA.3 PA.2 PA.1 PA.O /| PORTA
$09 PB.3 PB.2 PB.1 PB.0 /| PORTB




3 2 1 0 /
$0A PC.3 PC.2 PC.1 PC.0 /| PORTC
$0B PD.3 PD.2 PD.1 PD.0 /| PORTD
$0C - $0D - - - - -
$0E TBR.3 TBR.2 TBR.1 TBR.O /
$OF INX.3 INX.2 INX.1 INX.0 /
$10 DPL.3 DPL.2 DPL.1 DPL.0 / 4 )
$11 - DPM.2 DPM.1 DPM.0 / G )
$12 - DPH.2 DPH.1 DPH.0 / G )
$13-$14 - - - . .
$15 - PDCR.2 | PDCR.1 | PDCR.O /| |PORTD /
$16 PACR.3 | PACR2 | PACR.1 | PACR.0 / | PORTA |/
$17 PBCR.3 | PBCR.2 | PBCR.1 | PBCR.O / | PORTB /
$18 PCCR.3 | PCCR.2 | PCCR.1 | PCCR.0 / | PORTC |/
0 : o 1
(PORTA.0/PORTA.3) /
$19 PULLEN | PH/PL | PBCFR | EINFR / 1 :PORTBC
2 /
3 /
$1A-$1B - - - - -
$1C - - TOS TOE / ? ;18
$1D - - - - -
$1E WDT.2 WDT.1 WDT.0 / 2.0
WDT 3
$1F - - - - -
3. ROM
ROM 1024 X 16 , $000H $3FF
3.1. ($000  $004)
$000 $004 :
$000 JMP* RESET
$001 JMP* 0
$002 JMP* Timer0
$003 JMP* 1
$004 JMP*
*JMP

SHG69K20A




SHG69K20A

4.
4.1.
3 2 1 0 /Reset WDT
/
$00 IEXO IETO IEX1 IEP 0000 0000
$01 IRQX0 IRQTO IRQX1 IRQP 0000 0000
$02 - TOM.2 TOM.1 TOM.O -000 -000
$04 TOL.3 TOL.2 TOL.A TOL.O XXXX XXXX
$05 TOH.3 TOH.2 TOH.1 TOH.0 XXXX XXXX
$08 PA.3 PA.2 PA.1 PA.0 1111 1111
$09 PB.3 PB.2 PB.1 PB.0 1111 1111
$0A PC.3 PC.2 PC.1 PC.0 1111 1111
$0B PD.3 PD.2 PD.1 PD.O 1111 1111
$0E TBR.3 TBR.2 TBRA TBR.O XXXX uuuu
$0F INX.3 INX.2 INX.1 INX.0 XXXX uuuu
$10 DPL.3 DPL.2 DPL.1 DPL.O XXXX uuuu
$11 - DPM.2 DPM.1 DPM.O -XXX -uuu
$12 - DPH.2 DPH.1 DPH.O0 -XXX -uuu
$15 - PDCR.2 | PDCR.1 | PDCR.O -000 -000
$16 PACR.3 | PACR.2 | PACR.1 | PACR.O 0000 0000
$17 PBCR.3 | PBCR.2 | PBCR.1 | PBCR.O 0000 0000
$18 PCCR.3 | PCCR.2 | PCCR.1 | PCCR.O 0000 0000
$19 PULLEN | PH/PL PBCFR | EINFR 0100 0100
$1C - - TOS TOE --00 --00
$1E WDT WDT.2 WDT.1 WDT.0 0000 1000
IX = ,u= - = , '0'
4.2.
(PC) $000

CcYy

(AC)




SH69K20A

5.
CPU
fsys = fosc/4
5.1. :
(1) 32.768kHz , 4/32.768kHz (~ 122us)
(2) 455kHz , 4/455kHz (= 8.79us)
(3) 4MHz , 4/4MHz (= 1ps)
(4) 8MHz , 4/8MHz (= 0.5us)
5.2.
(1) : 32.768kHz 400kHz - 8MHz (2) : 400kHz - 8MHz
c1 C1
oscl T' oscl T'
[ Crystal [ ceramic
0SCo ;|

0SCo ;Lz s

(3)RC : 400kHz - 8MHz
Rosc Voo
I 1000pF (for reference only)
RC RC
(4) : 30kHz - 8MHz
OSCI [«—— External clock source

- RC ( ) ( ), 0SCO PORTD.0
- RC ( ), OSCI PORTD.1 OSCO PORTD.0
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SH69K20A
C1 C2
ZTB 455KHz
455kHz 47 - 100pF 47 - 100pF
ZT 455E
ZTT 3.580M
3.58MHz - -

ZT 3.58M*

ZTT 4.000M

4MHz - -
ZT 4Mm*
C1 Cc2
DT 38 (¢ 3x8) KDS
32.768kHz 5-12.5pF 5-12.5pF
¢ 3x8 - 32.768KHz
HC-49U/S 4.000MHz
4MHz 8 - 15pF 8 - 15pF
49S-4.000M-F16E
HC-49U/S 8.000MHz
8MHz 8 - 15pF 8 - 15pF
49S-8.000M-F16E
1. !
3. ,
/ ,
http://www.sinowealth.com




SH69K20A

6. 1/0
SHB9K20A 15 /0 1 $08 - $0B ($15 - $18)
110 / . $19  PULLEN, PH/PL
/ ( PORTD.3)
/0
3 2 1 0 /
$08 PA.3 PA.2 PA.1 PA.O / | PORTA
$09 PB.3 PB.2 PB.1 PB.0 / | PORTB
$0A PC.3 PC.2 PC.1 PC.0 / | PORTC
$0B PD.3 PD.2 PD.1 PD.0 / | PORTD
$15 - PDCR.2 | PDCR1 | PDCRO | / |PORTD /
$16 PACR.3 | PACR2 | PACR1 | PACRO | / |PORTA /
$17 PBCR3 | PBCR2 | PBCR.1 | PBCRO | / |PORTB  /
$18 PCCR.3 | PCCR.2 | PCCR1 | PCCRO | / |PORTC /

PA (/B/C/D) CR.n, (n=0, 1, 2, 3)
0: ( )
1:

PORTD.3 RESET PORTD.3 ,
PH/PL 1 , PORTD.3

I/10

Vop

PULLEN
PH/PL o c{ Weak
Vop Pull high
1/0 Control
Register _D—q

I/O Pad

DATA
Regiser I: _[>0—i
| Weak
_{>C jD ||_Pull Low

READ DATA IN | GND

READ ) |

DATA
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SHGE9K20A
$19:
3 2 1 0 /
0 : 0/ 1
(PA.0/PA.3) /
$19 PULLEN PH/PL PBCFR EINFR / 1 :PBC /
2 /
3 /
1 X X X / /
0 X X X / /
X 1 X X /
X 0 X X /
X X 1 X / PBC
X X 0 X / PBC
X X X 1 /
X X X 0 /
, PULLEN “1”, PH/PL “17, “1”
, PULLEN “1”, PH/PL “07, “0”
PORTB, PORTC
PORTB PORTC
IEP
PORTB.n Rising / Falling
PORTC.n Edge Detector > Port Interrupt
PBCR.n
PCCR.n A
PBCFR — | IR |
Note: n=0, 1,2, 3
(PBC INT)
u GND Vbbb )
1. , 0
2. ( PULLEN 1 PH/PL 0)
3. ( PBCFR 1)
[ ] Voo GND )
1. , 1
2. ( PULLEN 1 PH/PL 1)
3. ( PBCFR 0)
VbD ,
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7. / (Timer)
8 Timer 4 Timer SFF  $00
-8 , Timer
i 4 Timer ,
-8
- $FF $00
Timer )
ol toe
T0o —{ EOR MUX—{ Prescaler }—{ . osljilTTER| ’
T(l)E TOS TM.2TM.1TM.0
Timer | Load Reg. L | | Load Reg. H
;_1, Timer0 8-bit timer counter
Timer0 8 (TLOL, TLOH) 8 Lathr;LReg. 1
(TCOL, TCOH)
(TLOL, TLOH) 1l 1l
Timer
7.2. Timer
Timer (TMO) Timer
Timer TMx.2-0
1. TimerO ($02)
TMO.2 TMO.1 TMO.0
0 0 0 2" /TO
0 0 1 /2° ITO
0 1 0 12’ 0
0 1 1 /2° ITO
! 0 0 12° T0
! 0 1 12* o
! ! 0 2’ 70
! 1 1 12° T0
$1C
3 2 1 0 /
$1c | - - tos | T || 2D
- - X 0 / TO
- - X 1 / TO
5 - 0 X /| Timer0
- - 1 X /| Timer0 TO (PORTD.2 TO)

11



SH69K20A

7.3 / TO Timer0
/ TO Timer0 , CPU
Timer , (
TOH (TO )>2*tosc + AT
TOL (TO )>2*tosc + AT
, TOM ,
N*T
TO high time =TO low time = 2 0
TO = Timer0
N =
N« TO
> 2 * tosc + AT TO >
2
TO Timer , TO

4 *~tosc+2* AT

TO = TimerQ period >
N

12

2 tosc) ( 2 tosc)

AT = 20ns

4 = tosc+2 * AT

N
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SHG69K20A

8.
SHG69K20A
- TimerO
-PORTB PORTC ( 1/ )
- 0 « 1 )
- 1 « 7 )
$00 $01 , 0
3 2 1 0 /
$00 IEXO IETO IEX1 IEP /
$01 IRQXO0 IRQTO IRQX1 IRQP /
IEx 1 (IRQx 1), ,PC
cY , , (IEx)
0, IRQx =1 IEx 1,
| ! | 2 | 3 | 4 | S |
Inst.cycle
[ [ [ [ [ [
Instruction Instruction Instruction
Execution Execution Execution
N 1 12
Interrupt Generated Interrupt Accepted Vectgrtii?ni;ated FemhRVe esztflr; (;(d ress
Start at vector address
CPU ,
IE N, )
11 12 ,
Timer0 (TimerO / TO) Timer $FF  $00
(IRQTO = 1), (IETO=1)
HALT CPU
$00 (IEX) 3 1, 0 , PORTA.O ( )
$00 (IEX) 1 1, 1 , PORTA.3 ( )
R ) 0 )
/
PBCFR “0”, 110 (IRQP =1)
VDD
PBCFR “1”,1/0 (IRQP = 1)
GND

13



SHG69K20A

9 (LVR)
LVR
LVR
LVR
- VbD <VLVR
- VDD > VLVR
, VDD: , VLVR: LVR ( )
10. (WDT)
, RC , STOP
, WDT CPU WDT ($1E 2-0
, WDT ($1E 3 ) “q $1E, WDT
$1E:
3 2 1 0 /
$1E WDT.2 | WDT.1 | WDT.0 / 2-0
wWDT 3 ( )
X 0 0 0 /| wDT 4096ms
X 0 0 1 /| wDT 1024ms
X 0 1 0 /| WDT 256ms
X 0 1 1 /| wDT 128ms
X 1 0 0 /| WDT 64ms
X 1 0 1 /| wDT 16ms
X 1 1 0 /| wDT 4ms
X 1 1 1 /| wDT 1ms
0 X X X WDT
1 X X X wDT wDT
VbD = 5V
11. HALT STOP
HALT , CPU 1 (HALT)  HALT , CPU (Timer
)
STOP , CPU 2 (STOP)  STOP , , (
)
HALT , CPU
STOP , CPU
,CPU HALT/STOP , HALT/STOP
12.
A. :
(1) fosc = 30kHz - 1MHz, 1/2"2 (4096)
(2) fosc = 1MHz - 8MHz, 1/2"° (32768)

B. STOP :
1) 1/2"2 (4096)

14




SH69K20A

13.

000: 30kHZ - 8MHz
001: 2MHz RC
010: 4MHz RC
011: 6MHz RC
100: 400k - 8MHz RC
101: 400k - 8MHz
110: 400k - 8MHz
111: 32.768kHz
VDD :

0: 5V ( )

1: 3V

WDT:

1: PORTD.3

0: 1MHz - 8MHz ( )
1: 32kHz - 1MHz

(

15
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1.
1.1
ADC X (,B) 00000 Obbb xxx xxxx AC € Mx+ AC +CY CcY
ADCM X ¢, B) 00000 1bbb xxx xxxx AC, Mx € Mx + AC + CY CcY
ADD X ¢(,B) 00001 Obbb xxx xxxx AC € Mx + AC CcY
ADDM X (, B) 00001 1bbb xxx xxxx AC, Mx € Mx + AC CcY
SBC X (,B) 00010 Obbb xxx xxxx AC € Mx +-AC + CY CcY
SBCM X ¢(, B) 00010 1bbb xxx XXxx AC, Mx € Mx + -AC + CY CcY
SUB X ¢(, B) 00011 Obbb xxx xxxx AC € Mx +-AC +1 CcY
SUBM X ¢(, B) 00011 1bbb xxx xxxx AC, Mx € Mx + -AC +1 CcY
EOR X(, B) 00100 Obbb xxx xxxx AC € Mx @ AC
EORM X ¢, B) 00100 1bbb xxx xxxx AC, Mx € Mx @ AC
OR X{(, B) 00101 Obbb xxx xxxx AC €« Mx |AC
ORM X ¢(, B) 00101 1bbb xxx xxxx AC, Mx € Mx | AC
AND X (, B) 00110 Obbb xxx xxxx AC € Mx &AC
ANDM X (, B) 00110 1bbb xxx xxxx AC, Mx € Mx & AC
SHR 11110 0000 000 0000 2; AC[:i]' ACI0] > CY CcYy
1.2.
ADI X | 01000 iiii xxx XxXxX AC € Mx + | CcY
ADIM X, | 01001 iiii XXX XXXX AC, Mx € Mx + | CcY
SBI X, | 01010 iiii xxx XXXX AC € Mx + -| +1 CcY
SBIM X, | 01011 iiii XXX XXXX AC, Mx € Mx + -| +1 cY
EORIM X, | 01100 iiii XXX XXxX AC, Mx € Mx @ |
ORIM X, | 01101 iiii XXX XXXX AC, Mx €« Mx | |
ANDIM X, | 01110 iiii XXX XXXX AC, Mx € Mx & |
1.3.
DAA X 11001 0110 XXX XXXX AC, Mx €« CcY
DAS X 11001 1010 XXX XXXX AC, Mx €« CcY

16




SHG69K20A

LDA X (,B) 00111 Obbb xxx xxxx AC < Mx
STA X {(, B) 00111 1bbb xxx xxxx Mx € AC
LDl X, I 01111 iiii XXX XXXX AC, Mx € |
BAZ X 10010 XXXX XXX XXXX PC < X, AC=0
BNz X 10000 XXXX XXX XXXX PC < X, AC=0
BC X 10011 XXXX XXX XXXX PC <« X, CY =1
BNC X 10001 XXXX XXX XXXX PC < X, CY =1
BAO X 10100 XXXX XXX XXXX PC < X, AC (0)=1
BA1 X 10101 XXXX XXX XXXX PC < X, AC (1) =1
BA2 X 10110 XXXX XXX XXXX PC < X, AC (2) =1
BA3 X 10111 XXXX XXX XXXX PC < X, AC (3)=1
CALL X 11000 XXXX XXX XXXX g(l; : ?(\E PC+1 0)
RTNW H, L 11010 000h hhh li 'FI:IgRééStrhhh,AC -
RTNI 11010 1000 000 0000 CY,PC « ST CY
HALT 11011 0000 000 0000
STOP 11011 1000 000 0000
JMP X 1110p XXXX XXX XXXX PC < X ( p)
TJMP 11110 1111 111 1111 PC < (PC11-PC8) (TBR) (AC)
NOP 11111 1111 111 1111

PC |

AC ®

-AC |

cY &

Mx bbb RAM
p ROM B RAM
ST TBR

17



SHG69K20A

* *
..................... -0.3V to +7.0V “ ? ,
................. -0.3V to Vbp + 0.3V
.................... -40 to +85
....................... -55 to+125
(GND=0V,TA=25 , )
Vb 45 5.0 5.5 V | 30kHz < fosc < 8MHz
2.0 3.0 4.5 V | 30kHz < fosc < 4MHz
1 |VLVR1 3.6 3.9 4.2 V |LVR
2 |VLVR2 14 1.7 2.0 V |LVR
fosc = 4MHz, Vpp = 5.0V
o - 1.3 1.5 mA , NOP _(WDT )
08 12 A fosc = 4MHz, Vpp = 3.0V
- : m , NOP  ,(WDT )
fosc = 4MHz, Vbp = 5.0V
- - 500 | A (HALT ) WDT ,LVR
1 fosc = 32.768kHz , VDD = 5.0V
IsB1 - 7 10 pA , WDT , LVR
(RALT) ( WDT , IsB2 = IsB2 + 20pA)
fosc = 4MHz, Vbp = 3.0V
- - 300 | pA (HALT ) WDT ,LVR
9 (STOP ), Vbp = 5.0V
(STOP) IsB2 - - 1 MA [LVR ( LVR , IsB3x = IsB3 + 2uA)
WDT ( WDT , IsB3x = IsB3 + 20uA)
Vil GND - Vbbb X0.3] V |I/O
Viz | GND Vop X 02| v |RESET,T0, OSCI ( )
PORTA.0, PORTA.3 ( : )
ViH1 VDD X 0.7 - VbD vV |1/O
ViH2 Vbb X 0.8 - VbD v | RESET, T0, OSCI ( )
PORTA.O, PORTA.3 ( , )
liL1 -1 - 1 A [I/O , VIN=GND or VpD
liL2 -5 - - MA |VRESET = GND + 0.25V
liL3 - 1 5 MA [VRESET = VDD
liLa -3 1 3 pA | TO, Vo= GND or Vbp
/ Rp - 150 - kQ / (VoD = 5.0V)
VoH |Vbpp - 0.7 - - vV |1/O , loH =-10mA (Vpp = 5.0V)
VoL - - |GND+06/ V |l/O , loL = 20mA (Vbb = 5.0V)
VbD 100mA
GND 150mA
I/0 50mA
I/0 40mA

18
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SH69K20A
(Vob = 5.0V, GND = 0V, Ta = 25°C, )
tost - 1 2 s | 32.768kHz
( ) tRESET 10 - - ps | Vobp = 5.0V
WDT twoT 1 - - ms |VbD = 5.0V
fosc = 400kHz - 4MHz, [f(5.5V)-f(2.0V)|/f(5.0V)
RC) |Af|/f - - 20 % | fosc = 4MHz - 8MHz,
[f(5.5V)-f(4.5V)|/f(5.0V)
( RC) |Af|/f - - 50 % |VbD=2.0-45V, TA=+5 to+45
tcy 0.5 - 133 | us |fosc = 30kHz - 8MHz
TO tiw |(tcy + 40)/N| - - ns |[N=
tirw tiw/2 - - ns
tiPwH 1/2 tiw - - ns
tipwL 1/2 tiw - - ns
(a)
‘T1 |T2|T3|T4|T5|T6|T7|T8‘T1|T2|T3|T4|
System Clock :\ / :\ /
% tcy %
I
(b) TO
| tipw(L) | tiPw(H) 3
TO input signal ‘ ‘ |
i tiw i
< >
(c) RC (
RESET i
0sC % [_L 777777 -L 7777777777777 1 7777777
wor | | 1 :
Built-in RC } i i i

19



SH69K20A

RC

10000

Typical RC Oscillator Resistor vs. Frequency (VDD = 5.0V)

AN

N

N
T
=
[} \
2]
ko]
~ 1000 f
8]
c
)]
3 \
g N
w N
100
10 1000
External RC Oscillator Resistor: Rosc (kQ)
1. RC (VpD =5.0V)
Typical RC Oscillator Resistor vs. Frequency (Vbp = 3.0V)
10000
\\
N
I
=3
?
kel
5 1000 \\
c
g
g N
[T
100
10 1000

External RC Oscillator Resistor: Rosc (kQ)

2. RC (VDD = 3.0V)

20



5. ( fosc = 6MHz)

21

e ——
3 SHG69K20A
RC
Operating Voltage vs. Frequency (Internal fosc = 2MHz)
2.2
N
I
S 21 ¢
w L—
n /— T
o
c
[]
> 19 |
o
w
1.8
1 2 3 4 5 6
Operating Voltage: Voo (V)
3. ( fosc = 2MHz)
Operating Voltage vs. Frequency (Internal fosc = 4MHz)
49
T 47}
=
o 45 &
(%]
843 | 7
% 41 7
e 4.
(]
239 | “
2
w 3.7
3.5
1 2 3 4 5 6
Operating Voltage: Voo (V)
4. ( fosc = 4MHz)
Operating Voltage vs. Frequency (Internal fosc = 6MHz)
7
¥
s 6.8 I
b
L
5 6.6 /
o
c
[]
>
g 64t \/
w
6.2
4 5 6
Operating Voltage: Voo (V)



SH69K20A

( )
AP1:
(1) 1 3.0V
) : 32.768KHz
(3) PORTA PORTB.2 - 0: ( )
(4) PORTC: I/O
(5) PORTB.3:
R -
° PORTA.O PORTC.0
A PORTC.1 Vo
PORTA.1 : I I
_u_c PORTA.2 PORTC.2
R -
o PORTA3 PORTC.3
o PORTBO £ 10k VPP
_— L — T‘\/\/\/—T
"n° PORTB.1 % /PORTD.3 0.1uF
o PORTB.2 S 1
— PORTB.3
= oscl/
Voo I: ToPORTD2 ~ TORTDI 120F
. -
[ VoD 0Ssco/ |
PORTD.0 i |
_ [ GND 12pF
AP2:
(1) 1 5.0V
(2) : 4MHz
(3) PORTA  PORTC: /0
(4) PORTB.2 - 0: ( )
(5) PORTB.3:
110 PORTA.0 PORTC.0
<4 | PORTA1 PORTC.1 110
PORTA2 PORTC2 | -
PORTA.3 PORTC.3
—— PORTB.0 % 10k VoD
o % Q
- oz R PORSs
PORTB.2 . 0.1uF
° PORTB.3 > =S )
= : 0sCl o |
VoD I: TO/PORTD.2  /PORTD.1 ZOpII:
T T
Voo 0sCo l |
/PORTD.0
] eND 20pF |
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PORTA.O

PORTA.1
PORTA.2

PORTA.3

PORTB.0

PORTB.1
PORTB.2
PORTB.3

VOZHE9HS

TO/PORTD.2

Vobp

GND

PORTC.0
PORTC.1

PORTC.2
PORTC.3

RESET
/PORTD.3

OSCl/
PORTD.1

0osco/
PORTD.0

110

0.1uF
L

Vbbp

90kQ T

1/10
—)

AP3:
(1) 1 5.0V
(2) RC 4MHz
(3) PORTA-C PORTD.O: /O ( )
(4) 0 : TO
110
<>
-
[
-
o
-
[o2
-
o}
- VVDD
- T
L
AP4:
(1) : 5.0V
(2) RC 4MHz
(3)
(4) PORTA-C PORTD.2-0:1/0 ( )
(5) PORTD.3: ( )
|
—>
I
e,
I
e,
I
(e,
1/10
—
VbD
T
L]

RESET/PORTD.3

TO/PORTD.2

OSCO/PORTD.1

OSCI/PORTD.O

PORTB.0O
PORTB.1
PORTB.2
PORTB.3

GND

VOZM69HS

PORTC.0
PORTC.1
PORTC.2
PORTC.3

PORTA.O
PORTA.1
PORTA.2
PORTA.3

110

I}
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SHG69K20A

o g
E aN=9 &
cEEEg &
o ¥ ¥ o g 8
SPRERGS
B9
SHE9K20A Y
_ OSCO/PORTD.0
RESET/POR;E.; Voo E‘
PORTB.0 o0 PORTC3 3
' (8] GND T
El l
- N ™ o -
o o Mm [CINGING)
bk i
folele] olele
[a sy a o oo
Fi 2030um 44
S um
X Y X Y
1 PORTA.2 -299.15 571.95 11 PORTC.1 763 -571.95
2 PORTA.3 -429.15 571.95 12 PORTC.2 893 -571.95
3 TO/PORTD.2 -5659.15 571.95 13 GND 813.95 -317.15
4 RESET /PORTD.3 | -863.95 -45.05 14 PORTC.3 863.95 -187.15
5 GND -863.95 -165.05 15 VDD 897 -57.15
6 PORTB.0 -863.95 -305.05 16 OSCO/PORTD.0 863.95 101.9
7 PORTB.1 -893 -571.95 17 OSCI/PORTD.1 220.85 571.95
8 PORTB.2 -763 -571.95 18 GND 90.85 571.95
9 PORTB.3 -633 -571.95 19 PORTA.O -39.15 571.95
10 PORTC.0 633 -571.95 20 PORTA.1 -169.15 571.95
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SHG69K20A

SH69K20AH CHIP FORM
SH69K20A 18L DIP
SHE9K20AM 18L SOP
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SHG69K20A

DIP 18L

i O
1 9
S
<v < if Base Plane
3
—'A 1 Seating Plane
v B
B1 e o
[’
A 0.175 4.45
A1 0.010 0.25
A2 0.130 £ 0.010 3.30 £ 0.25
B 0.018+0.004 0.46+0.10
-0.002 -0.05
B1 0.060+0.004 1.52+0.10
-0.002 -0.05
c 0.010+0.004 0.25+0.10
-0.002 -0.05
D 0.900 22.86
( 0.920) ( 23.37)
E 0.300 £ 0.010 7.62+0.25
£ 0.250 6.35
( 0.262) ( 6.65)
e1 0.100 £ 0.010 2.54 +0.25
L 0.130£0.010 3.30+0.25
a 0° ~15° 0°~ 15°
en 0.345 +0.035 8.76 £ 0.89
S 0.055 1.40
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SOP 18L

Q0ARAARAT T

O
R EEEE
1 #bﬁg

L

L Az
<

s |€

[

< [P
Seating Plane

1@3

A1

Detail F

el

J

[
\_/

N

LSee Detail F
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A 0.110 2.79
A1 0.004 0.10
A2 0.092 + 0.005 2.33+0.13
b 0.016+0.004 0.41+0.10
-0.002 -0.05
c 0.010+0.004 0.25+0.10
-0.002 -0.05
D 0.455 £ 0.015 11.56 + 0.38
E 0.295 + 0.010 7.49+0.25
e 0.050 + 0.006 1.27 £0.15
el 0.376 9.50
HE 0.406 £ 0.012 10.31 £ 0.31
L 0.030 £ 0.008 0.76 £ 0.20
Le 0.055 + 0.008 1.40 £ 0.20
S 0.037 0.94
0.004 0.10
0°~10° 0°~10°
1. D
2. E
3. el PC
4, S
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